

$$\lim_{x \rightarrow 0} \frac{x - \lg(1+x)}{x^2} =$$

$$= \lim_0 \frac{\cancel{x} - \left(\cancel{x} - \frac{x^2}{2} + o(x^2) \right)}{x^2} =$$

$$= \lim_0 \frac{\frac{x^2}{2} - o(x^2)}{x^2} = \frac{1}{2}$$



$$\lg(1+x) = \lg 1 = f(0)$$

$f(x) \quad f(x) \quad x_0 = 0$

$$f'(x) = \frac{1}{1+x} \quad f'(0) = 1$$

$$f''(x) = -\frac{1}{(1+x)^2}$$

$$f''(0) = -1$$

$$\lg(1+x) = 0 + x - \frac{1}{2}x^2 + o(x^2)$$

$\frac{1}{1!} f'(0)(x)^1$

$$\lim_{x \rightarrow x_0} \frac{0 \ll f(x)}{f(x)} = \lim_{x \rightarrow x_0} \frac{\frac{1}{k!} f^{(k)}(x_0)(x-x_0)^k + o(x-x_0)^k}{\frac{1}{h!} g^{(h)}(x_0)(x-x_0)^h + o(x-x_0)^h}$$

before x_0

$0 \ll$
 $k > h$

ed f e g

$$\frac{\frac{1}{k!} f^{(k)}(x_0)}{\frac{1}{h!} g^{(h)}(x_0) + \frac{o(x-x_0)^h}{(x-x_0)^h}} \left[\frac{\frac{1}{k!} f^{(k)}(x_0)}{\frac{1}{h!} g^{(h)}(x_0) + \frac{o(x-x_0)^h}{(x-x_0)^h}} + \frac{o(x-x_0)^k}{(x-x_0)^k} \right] (x-x_0)^k$$

$\rightarrow 0$

$$\frac{\frac{1}{k!} f^{(k)}(x_0)}{\frac{1}{h!} g^{(h)}(x_0) + \frac{o(x-x_0)^h}{(x-x_0)^h}} (x-x_0)^{k-h}$$

$\rightarrow 0$

$$\lim_{0^+} \frac{\sqrt{x} - \sin \sqrt{x}}{x} =$$

$$t = \sqrt{x}$$

$$= \lim_{t \rightarrow 0} \frac{t - \sin t}{t^2} = \lim_{t \rightarrow 0} \frac{t - t - o(t^2)}{t^2} = 0$$

$$t - \sin t$$

$$\boxed{\sin t} = 0 + t + \frac{-\sin(0)}{2!} t^2 + o(t^2)$$

$$t - \sin t = O(x^3)$$

$$\sin t = t - \frac{t^3}{3!} + o(t^3)$$

TH. TAYLOR (con resto di LAGRANGE)

$$f \in C^{n+1}]a, b[$$

$$\forall x, x_0 \in]a, b[\quad \exists \xi \in]x_0, x[$$

$$f(x) - \sum_0^n \frac{1}{k!} f^{(k)}(x_0) (x-x_0)^k = \frac{1}{(n+1)!} f^{(n+1)}(\xi) (x-x_0)^{n+1}$$

$$\frac{f(x) - P(x) - \overbrace{f(x_0) - P(x_0)}^{=0}}{f(x) - \sum_0^n \frac{1}{k!} f^{(k)}(x_0) (x-x_0)^k} = \frac{f(x) - P(x) - \overbrace{f(x_0) - P(x_0)}^{=0}}{(x-x_0)^{n+1}}$$

$$(x-x_0)^{n+1} - (x_0-x_0)^{n+1} \stackrel{!}{=} 0$$

$$\frac{f^{(n+1)}(\xi) - \sum_{k=1}^n \frac{1}{(k-1)!} f^{(k)}(x_0) (\xi-x_0)^{k-1}}{(n+1) (\xi-x_0)^n}$$

CAUCHY

$\exists \xi_1$
interno ad $]x_0, x[$
tal che

$$f''(\xi_2) - \sum_2^n \frac{1}{(k-2)!} f^{(k)}(x_0) (\xi_2 - x_0)^{k-2}$$

CAUCHY
 x_0, ξ_2

$$(n+1)n(\xi_2 - x_0)^{n-1}$$

n v dte

$$f^{(n)}(\xi_n) - f^{(n)}(x_0)$$

$$(n+1)n(n-1)\dots 2 \cdot (\xi_n - x_0)$$

$$= \frac{1}{(n+1)!} \frac{f^{(n)}(\xi_n) - f^{(n)}(x_0)}{(\xi_n - x_0)}$$

CAUCHY
 $[x_0, \xi_n]$

$$\frac{1}{(n+1)!} \frac{f^{(n+1)}(\xi)}{1}$$

cauchy

$$\frac{f(x) - P(x)}{(x-x_0)^{n+1}} = \frac{1}{(n+1)!} f^{(n+1)}(\xi)$$

COME CALCOLARE UN VALORE
 APPROSSIMATO DI e (con precisione
 arbitraria)

$$e = e^1 \quad e^0 = 1$$

$$e^1 = 1 + 1 + \frac{1}{2!} + \frac{1}{3!} + \dots +$$

$$+ \dots + \frac{1}{n!} + \frac{1}{(n+1)!} \cdot e^{\xi}$$

$$f(x) = f(x_0) + f'(x_0)(x-x_0) + \frac{1}{2!} f''(x_0)(x-x_0)^2 + \dots + \frac{1}{n!} f^{(n)}(x_0)(x-x_0)^n + \dots$$

TAYLOR (LAGRANGE)

$$f(x) = e^x \quad x_0 = 0 \quad x = 1$$

$$f(0) = 1$$

ξ è interno a $[0, 1]$

$$\text{RESTO}_n \leq \frac{3}{(n+1)!}$$